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Cost Analysis and Contral

PAPER - IV

Time : Three hours Maximum Marks : 40

Minimum Marks : 14

Note : lHkh iz'u vfuok;Z gSA izR;sd [k.M le{k fu/kkZfjr vad n'kkZ, x, gSaA
All Questions are compulsory.  Allotted marks are shown against

each Section.

[k.M ^v^ [k.M ^v^ [k.M ^v^ [k.M ^v^ [k.M ^v^ Section 'A'

oLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'u
Objective Type Questions

Q.1 lgh mÙkj pqfu, &
Choose the Correct Answer -

(i) ykxr Kkr djus dh fof/k gS&-
Ascertaining Cost is the technique of -

(a) ykxr ys[kkadu Cost Accounting

(b) ykxrkadu Costing

(c) ys[kkadu Accounting

(d) buesa ls dksbZ ugha None of these

(ii) vlkekU; izfØ;k gkfu dks fdl [kkrs esa gLrkUrfjr djrs gSa&
Abnormal Process losses are transferred to which account-

(a) lkekU; ykHk gkfu [kkrk General P & L A/c

(b) ykxr ykHk gkfu [kkrk Costing P & L  A/c

(c) O;kikfjd [kkrk Trading A/c

(d) O;kikfjd ,oa ykHk gkfu [kkrk Trading & P & L A/c
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(iii) va'knku dh x.kuk dh tk ldrh gSA
Contribution can be calculated -

(a) foØ; ifjorZu'khy ykxr [S-V]

(b) foØ; x ykHk ek=k vuqikr [SxP.V.Ratio]

(c) LFkkbZ ykxr $ ykHk [FC + Profit]

(d) mi;qZDr lHkh All of the above

(iv) foØ; ctV cukus dk vk/kkj gS&
Sales budget may be prepared on the basls of -

(a) mRikn Product (b) {ks= Region

(c) xzkgd Customers (d) ;s lHkh All these

(v) fuEufyf[kr esa ls dkSu lk lkexzh iz;ksx fopj.k dk i;kZ;okph ugha gSA
Which is not the synonym of material usage variance?

(a) lkexzh la'kksf/kr iz;ksx fopj.k Material revised usage variance

(b) lkexzh ek=k fopj.k Material quantity Variance

(c) lkexzh dq'kyrk fopj.k Material efficiency Variance

(d) mi;qZDr lHkh All of the above

[k.M ^c^  [k.M ^c^  [k.M ^c^  [k.M ^c^  [k.M ^c^  Section 'B'

y?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'u

Short Answer Type Questions

Q.2 ferO;;h vkns'k ek=k dh /kkj.kk Li"V dhft,A
Explain the concept of Economic order quantity?

vFkok vFkok vFkok vFkok vFkok OR

ykxr ys[ks vkSj ykxr ys[kkadu ls D;k vk'k; gS\
What is meant by Cost Accounts and Cost Accounting?

Q.3 varj izfØ;k ykHk D;k gS\
What is Interprocess Profit?

vFkokvFkokvFkokvFkokvFkok     OR

la;qDr rFkk miksRikn D;k gS\
What are Joint and by Products?
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Q.4 lhekUr ykxr dh vo/kkj.kk Li"V dhft,A
Explain the concept of Marginal Cost?

vFkokvFkokvFkokvFkokvFkok     OR

^cukvks ;k [kjhnks* fu.kZ; esa lhekar ykxr dh D;k Hkwfedk gS\
What is the role of Marginal Costing in the decision of 'Mark or Buy'.

Q.5 dk;kZRed ctV ls D;k vk'k; gS\
What is meant by 'Functional Budget'?

vFkokvFkokvFkokvFkokvFkok     OR

ctVjh fu;a=.k D;k gS\
What is Budgetary Control?

Q.6 izeki ykxr vkSj ,sfrgkfld ykxr esa D;k varj gS\
What is the difference between standard cost and Historical Cost?

vFkokvFkokvFkokvFkokvFkok     OR

Je dq'kyrk fopj.k D;k gS\
What is labour Efficiency Variance?

[k.M ^l^  [k.M ^l^  [k.M ^l^  [k.M ^l^  [k.M ^l^  Section 'C'

nh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'u
Long Answer Type Questions

5x5 = 25

Q.7 ykxr ys[kkadu dh ifjHkk"kk nhft,A ykxr ys[kkadu ds fofHkUu izdkjksa
dk la{ksi esa o.kZu dhft,A
Define cost accounting? Describe briefly various types of cost

accounting.

vFkokvFkokvFkokvFkokvFkok     OR

^v* rFkk ^c* uked lkefxz;ksa dk fooj.k fuEu izdkj gS&
The Partinculars of A and B material are as follows -

(i) lkekU; mi;ksx % 10 bZdkb izfr lIrkg izr;sd dh
Normal usage 10 unit per week each
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(ii) U;wure mi;ksx %  5 bZdkb izfr lIrkg izr;sd dh
Minimum usage  5 unit per week each

(iii) vf/kdre mi;ksx % 15 bZdkb izfr lIrkg izr;sd dh
Maximum usage 15 unit per week each

(iv) iqu% vkns'k ek=k % v ⇒ 60 bdkbZ Unit

Re-order quantity c ⇒100 bdkbZ Unit

(v) iqu% vkns'k vof/k % v ⇒ 3 ls To 5 lIrkg Weeks

Re-order Period c ⇒ 2 ls To 4 lIrkg Weeks

izR;sd lkexzh ds fy, x.kuk dhft,A
calculate for each material.

(i) iqu% vkns'k Lrj Re-order Level

(ii) U;wure Lrj Minimum Level

(iii) vf/kdre Lrj Maximum Level

(iv) vkSlr LVkd Lrj Average Stock Level

Q.8 varj izfØ;k ykHk ls vki D;k le>rs gSa\ okLrfod ykHk dh x.kuk
fdl izdkj dh tkrh gSA mnkgj.k lfgr le>kb,A
What do you mean by Inter-process profit? How actual Profit is

calculated? Explain with examples.

vFkokvFkokvFkokvFkokvFkok     OR

ifjpkyu ykxr fdls dgrs gSa\ blds D;k mn~ns'; gSa\ mu laLFkkvksa
ds uke crkb, ftuesa bl jhfr dk iz;ksx fd;k tkrk gS\
What is operating cost? What are its objectives? State the

undertakings where it is used?

Q.9 izca/kdh; fu.kZ;ksa esa lhekUr ykxr fof/k ds dqN egRoiw.kZ mi;ksxksa dks
crkb,A
State some of the important applications of marginal costing for

managerial decisions?

vFkokvFkokvFkokvFkokvFkok     OR

fuEufyf[kr lead ,d y?kq fuekZ.kh daiuh ls lacaf/kr gSA
The following data is related to a small manufacturing co.
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LFkk;h ykxr Fixed Cost Rs. 1,60,000

ifjorZu'khy ykxr Variable Cost 60% fcØh ij of Sales

x.kuk dhft, Calculation -

i. ykHk ek=k vuqikr [P/v Ratio]

ii. lefoPNsn fcUnq [B.E.P.]

iii. 20]000 #- dk ykHk vftZr djus ds fy, fcØh
Sales required to earn a profit of Rs. 20,000/-

iv. 4]40]000 #- dh vuqekfur fcØh ij ykHk
Profit at an estimated sales of Rs. 4,40,000/-

v. 8]00]000 #- dh fcØh ij lqj{kk dh lhek
Margin of safety when sales are Rs. 8,00,000/-

Q.10 ykxr vads{k.k dks ifjHkkf"kr dhft,A ykxr vads{k.k ds ykHkksa dk
o.kZu dhft,A
Define cost audit? Describe the advantages of cost audit?

vFkokvFkokvFkokvFkokvFkok     OR

,d dkj[kkuk esa 10]000 bdkbZ;ksa ds mRiknu ds fy, O;; ctV fuEu
izdkj fn, x, gSaA
The expenses budget for production of 10,000 units in a factory

are furnished below -

     Per Unit

lkexzh Material 70/-

Je Labour 25/-

ifjorZu'khy mifjO;; Variable Overheads 20/-

LFkk;h mifjO;; Fixed Overheads 1,00,000 10/-

ifjorZu'khy O;; Variable Expenses 5/-

fcØh O;; 10% fLFkj Selling Expenses 10% Fixed 13/-

forj.k O;; 20%fLFkj Distribution Expenses 20% Fixed 7/-

iz'kklfud O;; Administrative Expenses 50,000 5/-

dqy ykxrdqy ykxrdqy ykxrdqy ykxrdqy ykxr Total Cost 155/-
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¼1½ 8000 bdkbZ;ksa ,oa ¼2½ 6000 bdkbZ;ksa ds fy, mRiknu ds ctV
rS;kj djsaA ;g eku ys fd iz'kklfud O;; lHkh Lrjksa ij fLFkj gksaxsA
Prepare a budget for the production of (i) 8000 unit and (ii) 6000

units. Assume that administrative expenses are rigid for all level of

production.

Q.11 fopj.kksa ls vki D;k le>rs gSa\ muds fofHkUu izdkjksa dk o.kZu
dhft,A
What do you understand by Variances? Explain their different types.

vFkokvFkokvFkokvFkokvFkok     OR

fuEu lwpukvksa ls lkexzh fopj.kksa dh x.kuk dhft,A
Calculate material variances from the follwoing information.

lkexzh izekf.kr okLrfod
Material Standard Actual

ek=k dher ewY; ek=k dher ewY;
(Qty) (Price) (Value) (Qty) (Price) (Value)

Kg. Rs. Rs. Kg. Rs. Rs.

A 50 4 200 40 5 200

B 30 6 180 30 6 180

C 20 3 60 30 3 90

100 440 100 470

Loss 20 - 30 -

80 440 70 470

•••
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